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L. X mwn: calendar of n2won nMIN and nNnna WYN
a. aowbin nprm 15 days before each Y31 ("o119” interpreted as %2 month)
b. 27vm 3 times a year
i.  p”r same 3 dates
ii. N 329978, 11vo and 29 ar (45 days before m»v)
iii. w711 871 1107, 1 190, 29 59158
1. Note: not 1 »wn as that is V"1 — may not separate n1wyn on that day
II. Discussion re nnna 9wWYNY M3
a. reason: for timing:
i.  pny 1. these are the times that they typically give birth
ii. 5727 in order that there be plenty animals available before the %
iii. 77’7 so ranchers will not violate 1nxn %1 (by designating 2”yn just before %9, they’ll bring it right away)
1. /D7 /7 anyone who retains and holds back his 2v is in violation (of 1nxrn 9a?)
a. Note: this may apply to all o9av (in which case "1219" is generic) or only to 2”yn
b. Comparison: with n:v0 m 11
i.  »7rnmfora”ynis 150K
1. Reason (72317 77): until 9%, birthing from conception before 0’1 n"; afterwards — from later 112y
a. And: reason for v’ 8" (1 19wn) — per v. 1 — at harvest time
ii. Nt 2 those born in 998 ("0»99R") have their own wyn
1. Reason: he commented that as a “compromise”, 07598 have their own 2”yn% 11
a. Therefore: 5 born in aR, 5 born in %198 and 5 born in »1wn — don’t join (no 1”yn, since he has <10)
b. But:5in »wn and 5 in the following ar — are joined and he has 10 (=1"yn)
2. Observation: why would 'Rty 12 “compromise” between his students (1™, »11w 12 71YOR "7 and v™)?
a. Answer: he was compromising between 2 earlier rabbis — YRynw> 71 ™
b. Observation: y"a must have been a “collegial student” (1an Tnon) of ™
i.  Else: he wouldn’t have compromised his own master’s position with that of YRynw» "
ii.  Note: pny " inferred that relationship from »”a’s comment to " in »v XIna 812
c.  Comparison: with %:0 mm21 - all born from 1 »wn through 29 %%x are joined for 2”yn
i.  But: 5 before 0”1 and 5 afterwards — are not joined
ii.  However: 5 before the 17 (see our mwn) and 5 afterwards — are joined
1. Observation (707 “7): nan didn’t employ the measure of nvan (blooming) or v9w as they do for mwyn
a. Else: if they employed nvin, time of conception would have been the determinant
i.  And:if they used v'9v, would have been from 23 %19 until the next 22 59x (8™ day is 1 »wn)
2. Rejection (1721 72 pa 79): it is like ©'9W — per v™, who ruled that jnr 9011 (<8 days old) enters 97 for 2”yn
a. Challenge (820 79): if so, why does y”a rule that the 0”19 have their own 2”yn?
i.  Assumption: even if born on 29 %19%, they have their own 2”yn
ii.  Proposal: perhaps "1 holds like v"3?
iii.  Rejection: he certainly holds like mnan (jnr 9oinn isn’t included for 2”yn)
1. Rather: just as for "3, we hold them over from previous 17 and included them with 0”558
2. Similarly: for o'nan, we hold them over for the next year
a. Observation (12111 77): the days of int Mo°n (7) are reckoned towards 1 year (per v. 2)
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II1. 2 nwn: the map
a. Size: 3 mawp (baskets), each holding 3 o'Ro are used to collect mYpw
i.  ar771x total used during the year — 27 oko (3x3, each time — 9x3=27)
b. Markings: marked X, 1,3
i.  Snypw 'y marked in Greek - A, B, T (or a, B, v)
ii.  Reason for marking (8r2»13): they would take first from », then 3, then s
c.  Protocol: person coming in to do NawYn nn1In does not wear a garment with sleeves or cuffs
i.  Nor: with shoes or sandals nor wearing »’an (either) nor wearing an amulet
1. am773 5RYNW "1 someone with long, curly hair cannot do naw%n nman (may hide coins in his hair)
a. Rejection (X117773): 12t would part his hair to check for coins
2. w211 those outside would talk with n7n constantly to ensure that he couldn’t hide coins in his mouth
a. Challenge: why not just fill his mouth with water?
b. Answer: he must make a 7372 on 1owHn nMIN, which he cannot do with a mouth filled with water
ii.  Reason: he could hide coins (stealing them) in any of these
1. And then: if he becomes impoverished, people will think it was due to that sin
2. Or: if he becomes (subsequently) wealthy, they’ll think that he did so from those ill-gotten gains
a. Lesson: a person is obligated to be clean in the eyes of the community as well as God’s eyes (vv. 3-4)
b. 17’7 we find this lesson in 77N (v. 3), D& (v. 5) and in 0223 (v. 4)
i.  Note: the citation from nmn is the clearest of all
IV. Note: section (interpreting vv. 6-8) is interpolation from n naw 5wy
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